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Al. Beruuciaure:

1. a) —;—~log248—10g43
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A2. HaiauTe 06/1acTh onpenejieHus GpyHKINH:

0) y= logz(x2 —4)
6) y=log,, (x* ~4x)

.a) yzm
.a) y=,fI-log,, x
.a) yzm
. a) y:W
.a) y=¢/l-log,, x

A3. Pemnte ypaBnenus:

O 3 Ut W e

0) y=10g3(9~x2)

1. a) log,,(x+1)+log,,7=-2

1
a) log,(x-3)? =1
a) log,(x—2)+log,(x+2) =1
a) log,(x+1)+log,(x+3)=3

a) 10g0‘25—2—+0,5 =0

a) log,2-log,(x~1)=log,(4-x)
a) lg(x+7)-lg(x+5)=1

a) log,(x—1)—log,(x+4)=-2

. a) 1-log,(x+3)=log,2

10. a) log,
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4-log,(x+3)=1

0) yzlogﬁ(Zx—\/Exz) 6.2) y=./1-log,,x
0) y=log0’5<0,5x—2x2) 8.a) y=¢/2+log,;x

0) y=log0,3(6x—3x2)
0) y=log0W|(O,Ol—x2)
0) y=4x-lg (l—4x2)
0) y=1g (—xz—x)

0) y=log0,5(3x—x2)

2.a) y=g/l-log,sx
4.a) y=4/log,, x+1

10. a) y=4/1-log,, x

0) log; x—2log, x-3=0

6) logi x+log,x—2=0
0) logi x=2-log, x
0) 3log, x=4-logl x
0) log; x+3log, x+2=0

6) log; s x =3log, s x -2

6) logg, x+5log,, x+4=0
6) iogg x+4log,, x+3=0
0) log; x+3=4log, x
0) 1+log; x =2log, x
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B1. Beruuciaure:

1. 6log,125-log,2+2"%" .5"%
log,40 log, 5

((1 - 10g2 )logm 2+log, 7). glog; 24

lg2 logs, 2 ((l—log} 11)10g333+10g}11) Dlog: 8
80

(log3 15_+ (l ~ log; 15)10g45 3)' 7e° (( 4-log; 3 )loglz 2+log, 3)' 510

(2log, 1,4 —log, 7 —1)-13*0¢
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B2. Pemiute HepaBeHCTBa:

log? x+log, x~2<0 logl x>2—log, x

log(",’3 x+4log,, x+3<0

2

log; x—2log, x>0 4. 3log,x>4-log;x
6. loglx+3log,x+2<0
8

1+log; x <2log, x log;, x+5log,, x+4>0

e

logg s x <3log, s x -2 10. loglx+3>4log, x

B3. Haliante HauMeHbHIee 3HaAYeHHe QYHKIUU

L f(x)=log,(9-x) 2. g(x)=log, (27-x?) 3. f(x)= logl(g—ll-x2
3 3 3
1, ,
4. g(x):mgl(-ﬁ-x-) 5. f(x) = log,(6v—t ) 6. f(x)=log, (16-7)
7. f(x):1ogl_(64—x2) 8. h(x) = log](215 xzj 9. y(x):log%(%—xzj
10. f(x)=log, (36 - x*)
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C1. Boruucanre:

1. 10log, ¥/27 +log, log, ¥/5
T 4

log, sm§+10g2 2cos§

lg5-1g20+1g° 2

1
18 I+logy 2

2ls7 _ 7182

C2. Pemiute ypaBHeHHe:

3348 0, (87
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~ 210g, 05V |
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7
log 4
0,25
5. J1- 16 =8log,| 5% (2]
log. 5 x
1 0,4
9- 28 =5log,| 2° (z)
log, 2 x
9.

/13 + 10g4x 3 210g3(3\/x—)

C3. Peminte cucTeMy ypaBHEHHI:
—logg X+y-— —) +log,, (5x) =0,
log5 2x y+5 =1.
log,(5y —3x+9)=2,

log2 7x Sy+ 5j+ 3log,(5x)=0

10.

10.

S.

log07y 2x+1)=0,
7.

logf +log6(2y 3x+5)=1+log, 4.
9 2log,, y+log 10y +x+1) =1,

log, x+5y+1 0.

0g49 _—10g7(4x 2y__) 0,
log, 2y x+2 =1.

1
121+|0g34

3log45

log, log, Y349 +9log, 316
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lo tl
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j—log33 =0,

f—/%

1
10g7(4x—3y- 7)

log,;(3x +2y +1)=0,
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logz(Sx +2y— ;j + Iogg(7x)3 =0.

2log, y+log,(y—x-1)=log,4+1,

log,,(2x -y + 1)=0.
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glngﬁ y+log,2y—-5x-2)=2+log, 5,

o
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log, (6x -2y +1)=0.

2log (—y) +log, (x -4y -5) =1,

10.
log, (x -2y +1)=0.
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